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(C) and (D). You have to darken the oval as indicated

below on the correct response against each item.

Bxample : (7D ® ©

where (C) is the correct response.
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Note : This paper contains fifty (50) multiple-choice questions, each question carrying
two (2) marks. Attempt all of them.

T YT § U (50) Sg-fashed i Ue €1 U YA A (2) iRl 1 1 |elt yeHi
IR a1 R

1. The teacher has been glorified by the phrase “Friend, philosopher and guide”
because :

(A) He has to play all vital roles in the context of society
B) He transmits the high value of humanity to students
He is the great reformer of the society

He is a great patriot

2. The most important cause of failure for teacher lies in the area of :
(A) inter personal relationship

(B) lack of command over the knowledge of the subject

(C) verbal ability

(D)

D) strict handling of the students

1. 37T & i, i ud Arieeie’ wt stfveafad | TRenfad fen T €, SHeR SR F
(A) 8 AN H meequl fien o1er w7
(B) T8 BTN %l AHET o HeM Hedl ol SRIART Ll § |
(C) 9% 9o 94T R Bl 7 |

(D) 9% HeH SUIME Bl 2 |

2. SIS hi TR hl HoH I BRI
(A) SAIIafah Hay
(B) fawa & I wara iz 7 g
(C)  rfvreh g&r
(D) BT % Yfd KSRl hl HAER
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3. A teacher can establish rapport with his students by :

(A) becoming a figure of authority
(B) impressing students with knowledge and skill
(C) playing the role of a guide
(D) becoming a friend to the students
4.  Education is a powerful instrument of :
(A) Social transformation (B) Personal transformation
(C) Cultural transformation (D) All the above
5. A teacher’s major contribution towards the maximum self-realization of the student is

affected through :

(A) Constant fulfilment of the students” needs
(B)  Strict control of class-room activities
(C) Sensitivity to students” needs, goals and purposes
(D) Strict reinforcement of academic standards
6.  Research problem is selected from the stand point of :
(A) Researcher’s interest (B) Financial support
(C) Social relevance (D) Availability of relevant literature

7. Which one is called non-probability sampling ?
(A) Cluster sampling (B) Quota sampling

(C) Systematic sampling (D) Stratified random sampling

8.  Formulation of hypothesis may NOT be required in :

(A) Survey method (B) Historical studies
(C) Experimental studies (D) Normative studies
WXYZ—-00 4

Latest Sarkari Jobs, Govt Exam Results, m
Vacancies and updates on one click




3. 37U TUH BEl % Ty Frefafed § 9 frg % 5 e Tenfud R HehdT €2
(A) faw= =1 mftrma fagm
(B) 3T T TH HivIdd | BTHI bl YHIfad Hleh
(C) WTTeEr i Jfieh! o1a1 Heh
(D) BT I 7T e

4. Toan frafafed o 9 forus e afsdemet e €2
(A) HMHIFST E a0 6 (B) AT &UILUT Rl
(C) Hiwehideh IR Hl (D) S |eft &

5. faeneff =t sAferRan ST (self-realization) H STEATIHR I ANGH Fefafad # foreeh
SR BT & ?

A) BTE I STERIHRA i STHRA G §RI
B) el H B & fohamehardl T el v gra
C) BE & STAvIRAlst, A&l Td Ievdl o Ui Hogeierd gr

(
(
(
(D) ifeeh TR &I FHerd & fraraaa

6.  STIEYM ! G 1 I e § 9 fhg gfewon 3 g g ?
(A)  wneneff w6t wf (B) e wama
(C) wrHIfSTh YrEfTehd (D) W4 Hifecd il Setsddl

7. Trefafea § 9 S I-gueada gfaea e g ?
(A) T Yfd=em (B) il U=
(C) =Heferd gid=rad (D) Eihd Agfeseh gfa==m

8.  UIaReHl ol fequ fefafed o o1ufad 787

(A) wE& ggfa (B) Ufceifaes stz
(C) I reads (D) STENcHe LT
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10.

Field-work based research is classified as :
(A) Empirical (B) Historical
(C) Experimental (D) Biographical

Which of the following sampling method is appropriate to study the prevalence of
AIDS amongst male and female in India in 1976, 1986, 1996 and 2006 ?

(A) Cluster sampling (B) Systematic sampling
(C©) Quota sampling (D) Stratified random sampling

Read the following passage and answer the questions 11 to 15 :

The fundamental principle is that Article 14 forbids class legislation but permits
reasonable classification for the purpose of legislation which classification must satisfy
the twin tests of classification being founded on an intelligible differentia which
distinguishes persons or things that are grouped together from those that are left out of
the group and that differentia must have a rational nexus to the object sought to be
achieved by the Statute in question. The thrust of Article 14 is that the citizen is entitled
to equality before law and equal protection of laws. In the very nature of things the
society being composed of unequals a welfare State will have to strive by both executive
and legislative action to help the less fortunate in society to ameliorate their condition
so that the social and economic inequality in the society may be bridged. This would
necessitate a legislative application to a group of citizens otherwise unequal and
amelioration of whose lot is the object of state affirmative action. In the absence of the
doctrine of classification such legislation is likely to flounder on the bed rock of equality
enshrined in Article 14. The Court realistically appraising the social and economic
inequality and keeping in view the guidelines on which the State action must move as
constitutionally laid down in Part IV of the Constitution evolved the doctrine of
classification. The doctrine was evolved to sustain a legislation or State action designed
to help weaker sections of the society or some such segments of the society in need of
succour. Legislative and executive action may accordingly be sustained if it satisfies
the twin tests of reasonable classification and the rational principle correlated to the
object sought to be achieved.

The concept of equality before the law does not involve the idea of absolute equality
among human beings which is a physical impossibility. All that Article 14 guarantees
is a similarity of treatment contra-distinguished from identical treatment. Equality
before law means that among equals the law should be equal and should be equally
administered and that the likes should be treated alike. Equality before the law does
not mean that things which are different shall be as though they are the same. It
ofcourse means denial of any special privilege by reason of birth, creed or the like. The
legislation as well as the executive government, while dealing with diverse problems
arising out of an infinite variety of human relations must of necessity have the power of
making special laws, to attain any particular object and to achieve that object it must
have the power of selection or classification of persons and things upon which such
laws are to operate.
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9. &-hrd 3Myd WY I FAfaRad o H W o ©
(A) Sfearvawes Wy (B) UfRIae Wy
(C) YANTCHR 3N (D) SATCHRATHE oY

10. YRA ¥ q¥9 W Afeansii § A TgH % 1976, 1986, 1996 1 2006 H U 7o e7eza H
Frafafaa & 4 SH- wfaeem vgfd Sugea -

(A)  FTRT gideE (B) Hafed Yidq=a-
(C) hler gfid=aa (D) wHihd Agfeseh Yfd=ra

Fferfaea Temsr @t afew 3 997 11 @ 15 & & I07 g -

qefagia e & f o 14 ot smya fafu-fmtor 1 afsfa st €, fog fafer fmfo & 2w g,
T STTeRLOT R STTART St , S S Afgal iR a&qedi & sre 9g widl 8 f5= u ot o
@ T R, S 35k faadd § 3R g ol o Sfie 1 9 1 Ush aeheTd NS (nexus) BT
ey, 519 ST (statute) T SATHT I8 3¢9 U A1 & | €N 14 Tl 9 36 o1 W 8, o A
o & Tedeh ANTReh FHIAT Te AT HL&T0T Sl BhaR § | i &9 H FHIS H STHAM &
T AR R T4 ol a6l Td SRl 9 9§ & HH Iraeel (hasiR) a7 & arl
1 T YHRA & TTT Yot A1 S dlfeh THIS § WA T STk STEHHar o1 T a1
Th | 3HY 37 AT i <90 GURA & fau fafyr fmior &6t sawaesar nt, S 39 SRIcas
FHNATE 1 Ie¥F © | R0l & FaGId o 31919 H, 39 YR o fa&m 1 &R 14 § Sfofq F9mear
% fagid &1 Y2 S dud ¥ 1 g 9 | At e ST STHHEaiet sl THed g
e & st v | aftia f fean fdei o6 sam o e gu T & fae St wiarg sifard §,
e 3 35k faw afterer o fagia fokfaa fu ¥ 1 o fagia ot % Sosik aon g
STEAHE okl o foTT [ M 1 HehRIcHeh: SIS ol 93¢ i & fau faesfad feran e
o | $9 YR i faemlt qen swrwifersht ot shiars i a+f T foan < gehan §, afe 98 ahdTa
STERTT T 32¥d Wi o ol o Hedeel o el Tagidl o TRerT T @R Sakal & |

I o THE YA ! HehoddT/ ATURON H, AT o o= T90 &9 § FHAA AMH
T & S fifass &9 § srEua B UR 14 B 59 91a i MR < i © 98 © fafire i 9eq wn
ek H1Y AN FoRR H & qH T 1 23 71 wHE e o wme 9t (i)
T § 31 37! At W THM €9 F AN A1 AMEC | HF % THET THM 61 312 78 78 T S
=l s € o ot oo €1 araa H et o1 § o, S iR 1= fopelt smmeR W fasronferenm
o1 froe | faenfaeht qen g TXhR I, UHd Hael 9 Scael e YohR i GHEST o1 U1
T o, foRr 7w o o S1fier & =nfen aifer o foret fasie e o1 um| o Jeh el
IHeh! Wi & fore 38 =afeai 9 ageii 1 arfighd 2 Hoh, 9 W T fraw @ 2
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11. Right to equality, one of the fundamental rights, is enunciated in the constitution under
Part III, Article :

(A) 12 (B) 13
(C) 14 (D) 15

12. The main thrust of Right to equality is that it permits :
(A) class legislation
(B) equality before law and equal protection under the law
(C) absolute equality
(D) special privilege by reason of birth

13. The social and economic inequality in the society can be bridged by :
(A) executive and legislative action
(B) universal suffrage
(C) identical treatment
(

D) none of the above

14. The doctrine of classification is evolved to :

A) Help weaker sections of the society

B

~—"

(
( Provide absolute equality
(C) Provide identical treatment
(D) None of the above

15. While dealing with diverse problems arising out of an infinite variety of human relations,
the government :

A) must have the power of making special laws

B

~—

must not have any power to make special laws

C) must have power to withdraw equal rights

(
(
(
(D) none of the above

WXYZ—-00 8
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11.  wfaum # yfamfd e sifusri § wamar &1 IfyeRr fhaesh siqid o €
(A) R 12 ST ¥ 11 (B) I 13 T M III
(C) T 14 T ¥ 11T (D) T 15 T ¥ 11T
12. 9Ol % ATHR F1 G SR I8 § T, 9% srmfa S € -
(A) = faura =t
(B) R % THE THMA AR THH HTLA & hl
(C) ot JTTar I
(D) S % 3MYR R foaeifereer
13. TN H e e oTifefer STmdr s R TR S SR ©
(A) IR oiR faumht wiar g/
(B) WEIHe HATHHR gRI
(C) M ZEER 5N
(D) W § HIE Tl
14. (iR <k g freafafea seea 9 fawfaa e mn € :
(A) U % HHSIR G D! TRl o ford
(B) YUl WHMA % fei
(C) THH HeRR & ford
(D) SR H | HiE T2l
15. 3T YR o AME Hadll 9 S[el TS ol TN Hld 999 TR F
(A) o YR & gl W &1 R 21 =few |
(B) W YR T TehIvl T 1 ATIHR & a1 =nfeu |
(C) THM AHFHR aTH TH 1 SRR 1 =fe |
(D) SR H | hiE 7L |
WXYZ —00 9
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16. Communication with oneself is known as :
A) Group communication

B

~—"

(
( Grapevine communication
(C) Interpersonal communication
(

D) Intrapersonal communication

17. Which broadcasting system for TV is followed in India ?
(A) NTSE (B) PAL
(C) SECAM (D) NTCS

18. All India Radio before 1936 was known as :
A) Indian Radio Broadcasting
B

~—

(
( Broadcasting Service of India
(C) Indian Broadcasting Service
(D) All India Broadcasting Service

19. The biggest news agency of India is :
(A) PTI (B) UNI
(C) NANAP (D) Samachar Bharati

20. Prasar Bharati was launched in the year :

(A) 1995 (B) 1997 (C) 1999 (D) 2001

21. A statistical measure based upon the entire population is called parameter while measure
based upon a sample is known as :

A) Sample parameter

B) Inference

~—

(
(
(C) Statistics

(D) None of these

WXYZ—-00 10
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16.

17.

18.

19.

20.

21.

IR | I H TR JOTelt shT STTER0T Bl © 2
(A) TAATHE. (NTSE) (B) U.3d. (PAL)
(C) THIHL.TLTH. (SECAM) (D) TALHL.TH. (NTCS)

1936 ¥ Tgal 3Afa sfean el & Fed A1
A) Efeaa e sresmfEn

(
(
(
(
IR T Fod ISl FHMER IR0 (To) ¥

(A) 2R (B) .UA.3E.
(C) TATTTYL (D) HHMER Rl

TR YRdT 1 T34 fFfafag a9 o foan T oni
(A) 1995 (B) 1997 (C) 1999 (D) 2001

ol SHEEA W Tea Fifersh! 719 i gt (RHeR) Fed § | gfiees (Fuet) W i@
Y T 1 Fed & 2

A)  HfaeeE g (Hoe Teter)
B) sT3fHfa

C) wifersnt

D) Wi H HIE &

~—"

(
(
(
(
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22. The importance of the correlation co-efficient lies in the fact that :
(A) There is a linear relationship between the correlated variables.
(B) It is one of the most valid measure of statistics.

(C) It allows one to determine the degree or strength of the association between two
variables.

(D) It is a non-parametric method of statistical analysis.

23. The F-test :
(A) is essentially a two tailed test.
(B) is essentially a one tailed test.
(C) can be one tailed as well as two tailed depending on the hypothesis.

(D) can never be a one tailed test.

24. What will be the next letter in the following series :
DCXW, FGVU, HGTS,

(A) AKPO (B) JBYZ (C) JIRQ (D) LMRS

25. The following question is based on the diagram given below. If the two small circles
represent formal class-room education and distance education and the big circle stands
for university system of education, which figure represents the university systems.

a) O Q O (B)
© @ O (D) @

26. The statement, “To be non-violent is good’ is a :

(A) Moral judgement (B) Factual judgement
(C) Religious judgement (D) Value judgement
WXYZ —-00 12
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22. TEHeEYE Ul (IR HIUHLS) T e 398 & T -
(A) TeHeyE dRafdEl (Fifcee dRwEed) & o= T Wi (SAfRR) day g
(B) T Wifereht o1 Faliferh de WY T |
(C) I < ufkedl & o= o Het st A A1 wfs o freior st emwfa < g
(D) g wifere! faweir &1 sTur=fds (non-parametric) fafy gl
23. TH (F) W :
(A) Ifard €9 | 578 (two tailed) T T |
(B) 31fa™ U | Tk IS5 (one tailed) T T
(C) W@ (hypothesis) % 3TTER Tk o8 91 f5Y=s Tefor € Hehall ¢ |
(D) T T=3 ql&rol K4l &l & Fehall |
24, Trafafaa 9 H o0 F 91 78R 3T 2
DCXW, FGVU, HGTS,
(A) AKPO (B) JBYZ (C) JIRQ (D) LMRS
25, frafafed ger fag T fos ® eneifi €1 3R < D1 et Sfaenfie el o HE qu gy
Torem & S 1 T & IR et Wen fovafammert fren yomedt i g9iar € @t == feu & fo=
H fovaforamer foan &1 & @ fox ot &2
(A) OQO (B)
SHOL m @
26. ‘sifeae g =T & fohd T e fUE ©
(A) Hfaes foia g1 (B) auex fvfg ¥
(C) enftisn fofer € (D) Heaute Fof § |
WXYZ —00 13 P.T.O.
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27. Assertion (A) : Man is a rational being.
Reason (R) : Man is a social being.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true

28. Value Judgements are :
A) Factual Judgements

B

~—"

(
( Ordinary Judgements
(C) Normative Judgements
(

D) Expression of public opinion

29. Deductive reasoning proceeds from :
A) general to particular

B

~—~

particular to general

C) one general conclusion to another general conclusion

(
(
(
(D) one particular conclusion to another particular conclusion

30. AGARTALA is written in code as 14168171, the code for AGRA is :

(A) 1641 (B) 1416 (C) 1441 (D) 1461

31. Which one of the following is the most comprehensive source of population data ?
A) National Family Health Surveys
B) National Sample Surveys

(
(
(C) Census
(

D) Demographic Health Surveys

WXYZ—-00 14
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27.

28.

29.

30.

31.

HIT (A) : T THITA FON T

HIUT (R) : HI QIS 9iof |

(A) (A) 3R (R) ST T € 3R (R), (A) i T A& B |

(B) (A) 3R (R) I @l € Afeh (R), (A) ot Tl =are T €|
(C) (A) TE § Afeh (R) Ted B

(D) (A) 7T € IR (R) Tl

(C) YT foig
(D) SHd ki ATyt

FrTeTCH e Seael BT ©
(A) HH=I 9 fomiv =t eIk
(B) Tomw & W™= = IR
(C) T UMM ek 9 g8 9= kel o6t 3R
(D) T foRi frepd @ ga¥ foiw fr=hd it iR

AGARTALA &1 &S H 14168171 fer@n =1 & @1 AGRA &1 i€ 81 :
(A) 1641 (B) 1416 (C) 1441 (D) 1461

frefafed § | &F 9 Eq U@ STide T Faifed Fedures §id 8 ?
(A) T TIETRe e qae

(B) st Huat Felarm

(C) ST

(D) SHHIREhT qae

WXYZ—-00 15 P.T.O.
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32.  Which one of the following principles is not applicable to sampling ?
(A) Sample units must be clearly defined
(B) Sample units must be dependent on each other
(C) Same units of sample should be used throughout the study
(D) Sample units must be chosen in a systematic and objective manner
33. If January 1st, 2007 is Monday, what was the day on 1st January 1995 ?
(A) Sunday (B) Monday
(C) Friday (D) Saturday
34. Insert the missing number in the following series :
4 16 8 64 ? 256
(A) 16 (B) 24 (©) 32 (D) 20
35. If an article is sold for Rs. 178 at a loss of 11%; what would be its selling price in order
to earn a profit of 11% ?
(A) Rs. 222.50 (B) Rs. 267 (C) Rs. 222 (D) Rs. 220
36. WYSIWYG - describes the display of a document on screen as it will actually print :
(A) What you state is what you get
(B) What you see is what you get
(C) What you save is what you get
(D) What you suggest is what you get
37. Which of the following is not a Computer language ?
(A) PASCAL (B) UNIX
(C) FORTRAN (D) COBOL
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32. faeae (dwfer) § 9 forg ® 9 wiF-wn fagid @ 7@t e ?
(A) YiT== i Sl ol T €9 § AT fohal 1 =1feu |
(B) == i gehrEal Uk g W R S =few
(C) HYUl 777 % SRA Ufa=o S Teh & Shigdl ol START fohal ST =g |

(D) Ufq=ra &t SRSl hl HATAelh T SIS H AT STHT AMM8T

33. SR SHed 1, 2007 THER €, a1 1995 it SHeR! 1 bl &iF 91 9 (feq) B ?

34, o9 H ¥ @ 3k hl 9RT :

(A) 16 (B) 24 (C) 32 (D) 20

35. TR U %] hl 11% i e | 178 T | o<1 T & @l 36 11% oY I & faw o wmd ™
S BT ?

(A) % 222.50 (B) %. 267 (C) % 222 (D) . 220

36. WYSIWYG - &t %At o1 39 YR 9 R Qe §, A1 a8 asqa: qfed fwan smem:
(A) Sl 319 Fd €, TR AeR! firera 2
(B) 39 S W €, =@ el fiveran 21
(C) T4 I Ho™ Y 8, It 3T9eh! fietar g
(D) 3119 ST G &, a8 el e 2|

37. frefefaa & o9 o wregeR oo 78 72

(A) URRA-PASCAL (B) Ie-UNIX
(C) WREM-FORTRAN (D) WIE@-COBOL
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38. A key-board has at least :
(A) 91 keys (B) 101 keys
(C) 111 keys (D) 121 keys
39. An E-mail address is composed of :
(A) two parts (B) three parts
(C) four parts (D) five parts
40. Corel Draw is a popular :
(A) Ilustration programme (B) Programming language
(C) Text programme (D) None of the above
41. Human ear is most sensitive to noise in which of the following ranges :
(A) 1-2KHz (B) 100 - 500 Hz
(C©) 10-12KHz (D) 13 -16 KHz
42.  Which one of the following units is used to measure intensity of noise ?
(A) decible (B) Hz (C) Phon (D) Watts/m?
43. If the population growth follows a logistic curve, the maximum sustainable yield :
(A) is equal to half the carrying capacity.
(B) is equal to the carrying capacity.
(C) depends on growth rates.
(D) depends on the initial population.
44. Chemical weathering of rocks is largely dependent upon :
(A) high temperature (B) strong wind action
(C) heavy rainfall (D) glaciation
WXYZ—-00 18
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38. U i dlic § & 9 *H :
(A) 91 Fit B T (B) 101 Fit Bredt ¥
(C) 111 Fsft Bt 7 (D) 121 Fsit Bt B
39. -9 gdl H foRad oM B € 2
(A) = m (B) T W
(C) =R (D) dF W
40. Corel Draw T& AhYT :
(A) =0 (Illustration) FIHT 2| (B)  WRMIHT &t 9T T |
(C) TF=IUHEI (D) SR & § hig ot 7 |
41. T F wA A o 9§ T we eiferss dagsie 82
(A) 1 -2 fhcmest (B) 100 - 500 BT
(C) 10 - 12 foraiERst (D) 13 - 16 forciERs
42. = Tordt sepmeal @ STeTs i Swal 7O % fore i o 5o gge el @
(A) Sfaaa (B) IS Q) ®H (D) drest/Ht.2
43. Qﬁwqﬁqﬁwmﬁ(logisticcurve)ﬁﬂwm%?ﬁﬁrw?’JI'ITUﬁ'q
(sustainable) 9TT¥ (yield) :
(A) =T i & o 3T B |
(B) T i &l o SRIeR B |
(Q) SHE & gig W MR »af |
(D) Ry S W FuR T
44. FEHI H THEMAE SIS (weathering) FHR Hm ©
(A) 3= TAOEHE T (B) ST Bl o GHE W
(C) i g W (D) TeAr=sEd W
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45. Structure of earth’s system consists of the following :

Match List-I with List-II and give the correct answer.

List-1 (Zone) List-II (Chemical Character)
(a) Atmosphere (i) Inert gases
(b) Biosphere (i) Salt, fresh water, snow and ice
(c) Hydrosphere (iii) Organic substances, skeleton matter
(d) Lithosphere (iv) Light silicates
Codes :

(@ (b) () (@
(A) (i) (i) () (i0)
B) () (i) (i) (iv)
Q) i) () (i) (i)
(D) (i) () (i) (iv)

46. NAAC is an autonomous institution under the aegis of :
(A) ICSSR (B) CSIR

(C) AICTE (D) UGC

47. National Council for Women’s Education was established in :

(A) 1958 (B) 1976 (C) 1989 (D) 2000

48. Which one of the following is not situated in New Delhi ?
(A) Indian Council of Cultural Relations
(B) Indian Council of Scientific Research
(C) National Council of Educational Research and Training

(D) Indian Institute of Advanced Studies
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45. ged Yorell shi ST fFefafEd @ s S
geft-1 < gen-11 9§ e g w&t W i
G-I (S07) -1 ( T 18707 )
(a) SR () TifeRa T
(b) Sid AR (ii) @, QIS UL SR sTed
(c) ST=dT ATAERY (FFSEFI) (iii) ETeEE waTe, Theed uard
(d) faErRR (iv) g Taferehed
HIE :
(@ () (o (@)
(A Gi) (i) (@) (iv)
B) () (i) (i) (iv)
© @ @ G (i)
(D) (i) (@) () (iv)
46. TATUH fry o deen & sidwia wnfud g ?
(A) E.91L.TH.TH.3TR (B) WI.TH.3E.3N
(C) TemRHLAZ (D) IS
47. T Higen fRen aitvg ford o # wenfud g8 ?
(A) 1958 (B) 1976 (C) 1989 (D) 2000
48. = forel deensli § § 72 foooh # -4 Heen wnfid 78 2
(A) I HiEHfTE STTEeT s
(B) A STTeh STTEHM IRWS
(C) T Aefvoreh STTHM o Tfereor qRug
(D) WG 3= e Heam
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49. Autonomy in higher education implies freedom in :
(A) Administration (B) Policy-making

(C) Finance (D) Curriculum development

50. Match List-I with List-II and select the correct answer from the code given below :

List-1 (Institutions) List-1I (Locations)
(a) Dr. Hari Singh Gour University (i) Mumbai
(b) S.N.D.T. University (i) Baroda
()  M.S. University (iii) Jodhpur
(d) J.N. Vyas University (iv) Sagar
Codes :

(@ () (o (@)
(A) (i) () (@) (i)
B) () (i) (i) (iv)
() @) () (@) (o)
(D) (i) (o) () (i)

-00o0-
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49. = foen o e &1 fafgared §
(A)  TRTEA (B) fifa feaRo
(C) fod (D) U= fawfad we

50. @ell-1 1 Ger-11 § A gC fu 7@ siei &t Jerd § SW ST

gei-1 (qeend’) gEi-11 (T )
(a) =1 BT Tire foraforamea i HeE
(b) THTLELS favafaaem I
(c) THTH. FFEfd (i) ST
(d) .. = gHarde (iv) ®FR
IS

(@ b) (© @)
A) () @ @) (i)
®B) @& @) (@) (iv)
Q) @) @ @) (v
D) @ (o) @) (i)

-00o0-
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